51.

52.

53.

55.

56.

is 45 years. ¥
of thei¥ ages ?n years) was
present age of SON-

(A) 9years
(C) 15years
If 5 is the zero of the polynomi'alg -
f(x) = ax+(2a+1) x—Sthenvgl_g_e.of ais
-4
® 30
(D) -35

2
(A) 3

(C) 0

Dehati fair is held at
(A) Karnal
(C) Faridabad

(B) Kaithal
(D) Panchakula

Which of the following movements, the
British Raj was shaken to its foundations

for the first time since 1857 fi
independence ? o of

(A) Swadeshi Movement

(B) Home Rule League Movement
(C) Rowlatt Satyagraha

(D) Nen-Cooperation Movement

Find the Word which is differe

other 3 Optf%}'given Blow nt from the

t
Carro B) Pokato

Tomato
(D) Beetroot

(C)

i O AN

_a.gd-a-ra'aaf\'(wﬁfmh
mﬁﬂﬂﬁ"“‘ﬂ A ©
50. Waﬁmﬂ @an (B) .
(A 20 (D) 18
2 aef 4+ &, T
[ ’.% ‘q' ﬂ ’
51 ﬂﬁ'P'ﬂﬁa:ﬁ;ﬁ[ﬂpmMqug:
. o '+ #An's’ B) 68
(A) 51 | ) 69
(C) 17 \
1AM 4598 € | e
Se @%mfﬁg;ga%M%m Rekd
lioeie. = 0
g G T4 B
(A) 9ad e
©) 1579 (
53 aﬁagmf(x).-.-axu(zan)x-saﬂ@
| FIAA T
iﬁszt,?fta | b,
(A) 3 B) 5
(GRS (D) —35
4. W 3 oo g &
N S ®) ¥ue
(C) Wi (D) T

55. Tefcia & @ &g atieem & 1857 & wom

T WU o e ge! A ey v F
+fie o e T oft 2 3

(A) "‘

(A) wesht e
(B) ﬁqmaﬂqm
(C) Tete Hemz
(D) HETm Seerm
56. 9% yr==
ﬁ;‘ﬁ;‘aﬁ?ﬁﬁqm?ﬁ?ﬁmu
(A) TSR @®)
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O 0
Eﬂglthang 1ac

e correct meaning of the underlined idi -
jven options. k- edidiom | Fy n the blanks

Qom Opﬁons

I

epeaker of the Lok Sabha stirred up
;__r_;..u 2LS nest by referring to the impending
changes in several rules.

A) make an untrue story
.‘..f-‘} raise controversy
""cfonfused hi et uans oritica
f"“’  perform a difficult task (A) Intendedto 1B} " 2
E

fou cannot befool me, as | was not bom | pick off gly Spe
* ' nime : words. '
A) weak
3) worldly wise 5]
C) unable to understand

D) give false hope

» v ‘r_
BA~AY ;«_!\..‘\:{_,“ 2

|42 :
-

&2 o T atasy.
Etiquette

blan s with suitable articles wherever | 76.

fgave me one rupee note.
needed

0{ N ¥ O ey S
Fill in the ’j suitable z,-?_i:.,;;‘{uga_g‘ verbs.

) since 2 O'clock.

;;;;;

SRS SR on he ___ (ge!)

| ‘:;}- H r‘Ot
’~ “has got
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4/2018 (1) (M18) ¥ Tt s m'm?wﬂﬁm@
Eregy + FSAE = S “ quw ﬁq’agaaﬂyﬁ'ia“(a
78. + e al,
il o To el ke e, g
» S o) 24 e €T, T
(C) i (B) T %ﬁ;mﬂm
B Td S IR iy o, qEATA
g0. el SEGd B A Wm%? ©) SrfaaTa awr, 3¢ a;;ﬁ%
,ﬁm%,aﬁm‘m(m A m,m% 25T 2
(A) w (D) T9F eET Hﬁ"[, ‘Fﬂ%ﬂ’ a—§ !
(C) aﬁfﬁ' 4 (D) h. ‘mg.mmﬁf%
: ﬁwmmwﬁ@ﬂl JUELGE
g1. Ty=faiad .
() A g6. v fod T T T S
(B) A (A) T (D) e
(C) ftaart ©) ¥z (D)
. 87. erffed § @ T Y62 1 GEFATH! 153
g2. gHfeia =iy : B
e W Fem o @) ¥
o, i Al 32 (C) e (D) Fea
3. 3968 3. 78 , . )
4. G { 59 88. T?*mm mz;aﬁ;@wm%
(A) 1=81 2-3 3-% 4-% :C)) E (D) ;
(B) 1-; 2= 3% 4 - (D)
(G T=NEEE=R ITE 4 -3 89. ‘i@ IR BMT
D) 1-3 2-3 3-an 4-%3 o ﬁglmﬁimwi%
83. ﬁ?ﬂ'mmagaaq (B) T &R W @
(A) e ' (C) Y T
(8) witfeai (D) g 3
(C) el
) 4 90. WIS ¥ %t Wryy
84. W * mm=m(m)q—g (A) BT % Grft
i b (B) W’lﬁmm
A e ©) wgif (C) &
(C) 374l 91 (D)h ) ﬁfbﬁm

(D) T B e




, Shivalik Hills grésfioft-"fpund in the

r';';.. iots of

f - Ambala

(B) Panchakula
-

(D) Yamunanagar

oneamcwaterisequalto

(E vf; 28 317 ltre/minute
28-:317-Mour
D) 28 317 litldweecond

4

‘(" ¢ .
3" Ju WMond&y. then 26™ July of the

(B) Tuesday

i [ Thussay () Mondey

is the first governor of Haryana:

i B. N. Chakraborty
yrma Vira




1. EHEHIE &
(A) wreprn 1 3 dver <) wffsea

e
(B) TEwEA i SR A

(©) e 1 S e i wfafR
(D) et i a7 el i srfefsrar

2. %@ 8, 13, 20, ?, 40, 53 T o[ gl J1d

1 |
(A) 25 (B) 27
(C) 29 (D) 31

3. waT fra i Fa1 § A I T T T

(A) STHITH (B) awarftsa
(C) UTHATE (D) Ha Fstifa

4. ﬁg(a.-b)aﬂt(-a,-b)%saﬁaﬁaj%

(A) 2a (B) 0
C) a (D) v2(a+b)
5. uigdl T AT, FHE TG H AN
# AT =L |
(A) died (B) ud
(C) +rE (D) a™
© U 6. i % Terta fen = & |
(A) 1973 (A) 1973 (B) 1966
(C) 1979
i (C) 1979 (D) 1995

7. The sum of twe
number'f_ 4 Byias
the digits is 154, {f the .
numberis

7. U a1 eI 1 T N FH F FH 956
H WIS BT 1 A1 154 B | A2 37 =1 37

(A) 95 ¢ d}‘}: 4%’ a 4 %
((C; :6 g: (A) 95or59

(B) 51o0r.15

(D) None of th (C) 26 or62



yjari Mahal is located at
A) Kamal (B) Hisar
Ambala (D) Panipath

of Himalayas do we find
th
maﬂon a unlqua type of so?]

Now\-oastem Himalayas

3) Eastern Himalayas

C) Himachal-Uttarakhand Himalayas
D) Kashmir Himalayas

values of x and y satisfying the
ation 6(ax + by) = 3a + 2b and

"’}; x—ay) = 3b - 2a are

’ 1
==X, Y=—
| y 3
-, ¥y= 3
y=3
None of these
.in a healthy adult, the initial filterate
| lddnay isabout ______litre/day.
2_:) 80 (B) 120
() 180 (D) 90

38" parallel north frequently in news,

...';;: Border line between North Korea and

’ 't 2SS ia
r line between North Korea and

South Korea
ltary exercise between South Korea

and USA

A lmary exercise betw

‘ \ nh Korea

een Russia and

& highest point of Morni Hills is known as

Karoh Peak  (B) Garoh Peak

60.

61.

(D) Grasher Peak

Tosa Peak

A1-




63.

64.

65.

_the options
4/2018 (1) (M18) otters (?)fromthe P
Find the mlssin93| p'? oaT
f Ps’ :
.Zr ?'EZJ ® DF
:c; CEH o) Gk
riage in
Cash reward for Inter casté marriag
Haryana I8 -
) pso000 (B 985:; B
(C) Rs.75,000 (D) Rs.1,0U,
; irit of self-government
There can be no sp! ! - e

66.

67.

68.

take awa 3
about us, if we  imostthdwhole

o take from the peasants v
of the results of their labour. Our salvation

can only come through the farmer. Neither
the lawyers, nor the doctors, nor the rich
\andlords are going to secure it". The

famous quote is uttered by
(A) Bhagath Singh

(8) Chandrashekhar Azad
(C) M. K. Gandhi

(D) None of the above

Which of the following form an AP ?
(A) 1, 12 2o
(B) 0.3,0.33,0.333, ...

(C) v2,2,242,4,...
(D) 9,9+V3,9+2/3,0+33, ..

Haryana government in the year 2015
declared that it will develop, '

= tobe

as the smart city,
(A) Gurgaon (B) Ambaia
(C) Panipath () Thar

Which of the followin

g Countries does not

L

/ ’Bt
2. NPS, W
: (?)mﬁl (B) DFJ
W (D) GIK
“ 9 ¥ fo =
64. M:mﬂﬂ“ﬁfﬂ
50,000
(B) ¥ 9V
WreR oo
P g 39
| ‘m-ﬁaﬂaﬂtaﬁﬁvﬁl ..
o8 A 2 &, @ g
::Wawmﬂﬁaﬁim:ﬁ% | BHT TTE
WW%WQWW% A FE,
- P, 7 8 SRS g e AT €
e wirg FoH ____ BT e T |
(A) WTAfaE
(C) . . Tieh

66. Fr=feifaa @ & #1 ua wuter Aoft s 7
(A) 1,1,2,2.3,3, ...
(B) 0.3,0.33,0.333, ...

C) V2,2,242.4, ..
(D) 9,9+v3,9+243. 9+343, ...

touch Mediterranean shore ?
(A) ~Greece S e
(C) Turkey (D) Geﬂ'nany

67, ST S 3 2 2015 1 e e
#1

R R ¥ v i e
(A) Tt .
(©) g :s; :;‘“‘

68. =iy
(A) g
(C) =% :g; %
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4/2018 (1) (M18) Of{ jaker of | - 38. ﬁmﬁwt !
38. The date of glection O © gl gL e
" Loksabha s fixed &Y (A) ﬁmmﬂﬁ
(A) Speaker Proteam (B) . ¥ oot
ha Chairman = et AT
(B) najy”ab : emawrsu CUE ©) aﬁi qﬁ
() Minister for ParliamemEiss (D) 7
the above ‘
(D) Noneof ky =3 3T kx + 5y =3
and'-5y =3 39. Hwﬁ 5x + % .(.h kK =
39. lftheeqUGﬁO"ss"+"‘y=3 A ST mi-@-[aﬁﬂﬁﬁ -
represent the same line then K = (A) 1
(A) 1 (B) 5
(B) 3 (C) 8
(C) 3 (D) T 1% el
(D) None of these - 29
40. Ranijit sagar dam is constructed on which | 40 fora g =Ty faFd
of the following rivers ?B) St (A) TEt (B) e
A) Ravi ( o EriC|
((c)) B:as' (D) Chenab (C) =a™ (D)

41. If 2cosec? 30° + xsin?60° - -Z-tanz 30°=10 | 41. 37fd 2cosec? 30° + xsin260° — a tan?

thenvaluedfxis 30°=10?ﬁxﬂ'ﬂ'ﬂﬂt

(A) 1 (B) 2 eVl ) 2
©) 3 (D) 4 (C) 3 D) 4
42. Tiriya ke Masmoom is written by 42. o % womy T feran man |
(A) Altat Hussain Haali (A) AT T8 BTt
(B) Amir Khusro (B) R gway
(C) Umrao Jan (C) IWE &1
(D) Allabaksh (D) IeaTEE
43. Who among the following is known for the |  43. Frefafen # 3 9 whe At
famous quote, “an uncontrolled pen serves HAH TR T F qar m,:@;
but to destroy” 7 | TR 2 T f%ﬂ{ "
(A) Leo Tolstoy . FArar =y
A -~ -
(B) John Ruskin EB; :‘:m
(C) Mahatma Gandhi (C) waTemy wiefy
(B) Swami Vivekananda (D) =t frderse




Ent‘ and turns

. (B) 13 km
', 16 km (D) None of these
. 'p(g)go45mon_probablllty of ‘not E' is
. (.--.“. 0‘6 ¢ (B) 0 55

j c) 05 o 1

side 1 cm are joined
of the resulting

cubes each of side
mend thesurfaeeam

iﬁlld is
(B) 14 cm?

(A) 7om’
(©) 3om* (D) 8cm?

- district is famous for light
‘engineering goods industry.

(#\) Ambala (B) Rewari
(C) Faridabad (D) Gurgaon

‘Match the following :

1. Jai Jawan Jai
Kisan Shastri

|1, Jai Jawan Jai 2. Atal Bihari

Kisan Jai Vigyan Vajapayee

I, Act East Policy 3. P. V.Narasimha
Rao

IV. Look East pollcy 4. Narendra Modi
Select the right code :
'(” I”--‘: N=2M-31IvV-4
(B) =1 1-21M-41V-3
/ ) 1-2 ll-1 -3 V-4
31-2 ||-1 -4 1v-3

1. Lal Bahadur

ette : : Computer : ?
- (B) Floppy

(C) Recordings (D) Files

t:«mﬁmm
gzasu%,tﬁ

.'_
- -
5 Al
it -
oINS A A
- i e
=
-'w". . v ®
. '__"‘ x
-~ "
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! RANE P
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|l ...ll.l.
“The idea of residuary
' in Indian Constitution Wa
the Constitution of
| (B) Canada

A) France
(C) Australia (D) UK

powers with the center
s borrowed from

 Which among the districts in Haryana has

£ highest population density ?
(A) Gurgaon (B) Panipat
(C) Faridabad (D) Sirsa

If TEST is coded as ‘64’ then ‘EXAM' is

B Coded as

4/2018 (1) (M18)

(A) 34 (B) 43 , (B) 43
(C) 45 (D) 44 - (©) 45 (D) 44
| g4, 50 J of heat is produced each second in | 34. &S ngﬁrﬁﬁﬁu@*mw J AT 344
‘a5 Q resistance. The potential difference th |gﬂﬁaﬁiﬁ fﬂm%
_across the resistor is L v
(A) 50V (B) 40V ) (8)
(C) 5J10V (D) 10V5 V @) 10V5 V

5. InAABC, AB=2.5cm, AC =10cm,
BC =445 cmthen B is

(A) 120° (B) 60°

(C) 90° (D) 45°

el
3, In which of the following states the saddle
peak is situated ?
(A) West Bengal
(B) Andaman and Nicobar
C) Goa
’{B) Coconut Island

n

' })v fi Pension Thare Pass Scheme introduced
during 2015,with view to ensure
(A) Transparency in pensions
Transparency in government results
(C) Transparency in supply of cooking gas
(D) Transparency in social security
pensions

s
|\\
L

T

37.

BC =445 T B R
(A) 120° (B) 60°
(C) 90° (D) 45°
(A) afeem s
(B) 37 3N e
(C)
(D) T B9 §&
Tl $H °R T A 2015 F A,
gRfea w@ ¥ fao e A
(A) UM yrefia

(B) TR qivumt § qraftan
(C) e aTelt g i ammgfd # arfifar
(D) wTiST Feen de ® urafia
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(A)

(B) Mou

(C) Medite
(D) Tropical e\




42018 (1) M18) o

25. Who plundef®=
Jahan? = Lop

(a) Nadf3goeh @
(C) Ahmes
26. Find the N
3 numbe&
(A) 29
() 3

27. HUHMN
(A) He
(B)
(C)
(D)

Whic
'==.'
(A) A
(B)
(©)
(D) G

Solutif
43 +
() 3

V3 4
© 2 78 ©

30. The second batt/e
between Hemu ang

(A) AuranQZQb
(B) Nadir Shah
(C) Akbar
(D) Timur

Panip

26.

27.

28.

0O

arery gt o1 T féreTeE < ¢
(A) IR ATE (B) T

(C) 3TEns e (D) 37 I
ey i} @ for EET T L

(A) 29 (B) 31

(C) 39 (D) 41
HUHM @1 214 &

() ft. dft. %. e wfufa
(D) TiEfe wfaf

29. THE 4/3x2 +5x-2/3 =0 F EA &

(A)\/s':z- B..‘@'_2
J3 (B) i -

30. WWWRMW S -




